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You can preview this quiz, but if this were a real attempt, you would be blocked
2Cause.
0mE999M0 339ME0 bgemadobobamans dbmmmo bhy-b doo JugmoEob.

300630 1

396 30Lgb3oYB9dgwoe
2300M06g80M03907emM00 89300930 HomEgbmdnosb 1.00

M0 0009300900 93Mob3dYg g39dmm dmEgdnmo 3O MmaMmodol gMogdgbdol dgldmymgool 890937
double a[]={7,-4,6,8,8,5,12,-10,8,-2,14,-2};

double s=1; int n=12;

for (int i=1; i<n; i+=2)

{if(ali]>0) s*=all]; }

cout <<s;

Answer:
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300b30 2

396 30Lgbaoy9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

oL godmomgmol 3Gmag®modol 3990930 RGMO’3gbho

int a[10]; int i,s=1,p=0;

for(i=1;i<10;i++)

cin>>ali];

for(i=0;i<10;i++)

if(a[i]>=0) p=p+al[i]; else s=s*ali];

00Mhogm g mo:
(O a. adobogolb EoEgoomo 633mgool bodGMOZML o Johygmaomo 6gzdmgool Foab
(O b. adobogol oEgo0mo 693gdool 3L o YomYMmBomo B93Mgdnl bod®mogml

(O c. adobogol 6930mgool 03 o bodMmogmb

300630 3

396 30bbaoy39dgmo
2300M0630MH03907em00 3990930 GHomEIbmdnsb 1.00

MmGobdmTogmgooob dologdo b3ghol 3ocmggmo gemgdgbhol 0bgdLoo:
20MR0gm ghmo:

O a. -1
Ob. 0
Oc 1
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300630 4

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

oL dLGYM 9oL 3rma®modnl 393 Ya0 RGMO’AgbHo
float a[10][10];int i,j;
for(i=0;i<10;i++)
for(j=0;j<10;j++)
cin>>a[i][j];
for(i=0;i<10;i++)
for(j=0;j<10;j++)
cout<<a[i][j];
20MRB0gm ghmo:
O a. 9op®moEol 9em9gdgbhgdol dgdhobol 39398, 03 9emgdgbhgdol godmbobol g m bh®ogmbao

O b. 30h®0oEob godmAobol doh®opol m&mdom
(O €. dbmmmE doh®oiol Jghobol
O d. 0boggdbgdol godmbobol
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300630 5

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

oL dLGYM 9oL 3rma®modnl 393 Ya0 RGMO’AgbHo
int a[10][10];int i,j,s=0;
for(i=0;i<10;i++)
for(j=0;j<10;j++)
cin>>a[i][j];
for(j=0;j<10;j++)
{for(i=0;i<10;i++)
s=s+ali][];}
003mOU:
00Mhogm g mo:
O a. 9op®mopol 9mgdgbhgool FodL
O b. 3oh®moEob bgghgool gemgdgbhgool FodL

O €. 3oh®moEob bh®ogmbol gmgdgbhgool Foab
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300b30 6

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

oL dLGYM 9oL 3rma®modnl 393 Ya0 RGMO’AgbHo
float a[10][10];int i,j,n;

for(i=0;i<10;i++)

for(j=0;j<10;j++)

cin>>a[i][j];

for(j =0; j <10; j ++) {

n=0;

for(i =0; i <10; i ++)

if(a[i][j]==0) n=n+1;

cout<< n<<’\n”;

}

00MRB0gm ghmo:
O a. 9oh®oEolb bymmzgobo gemgdgbhgool Mompgbmool

O b. 9o¢p®oEol mommggm Lh®ogmbdo bymmgobo gemgdgbhgool Gomybmodol

O €. 8dh®moEob mommgymo b3ghol bymmmgobo gmgdgbdhgool MomYbmasl o godmogdsl 93®mobdy
O d. 3oh®moEob mommgymo bgghob 9gmmgdgbHgdol MomEYbmdol
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300630 7

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

31694300b MMIgmo 3Gmbmbedos LEMGoE Robydomo?

00MRB0gm ghmo:
O a. intf(intx,inty)

O b. intf(int, int);
O c. intf;
O d. intf(intx,y);

300b30 8

396 30lgbaoyiedgemo
309MobgoMm0dgdynemos 8990930 MomEgbmdnwsb 1.00

HM3gEM00 dgmm3ol 30gbom dMmBgMomo 33emoEol dmgdgogool oMmy:
00Mh0gm gMmo ob ModEybodg dobybo:
(] a. Y390 0b @nbdioo, MmIgmados gb 33emoEod godmygbgdymo
(] b. 9L demm3o Bobdo hoEadymo J3gdommm3aganl gomgdg
(] ¢ 00 omBgmol 99339em0 6¢mm30
() d. 33moEol omBghoob 0emm30l ododmogmhgogem JoMF3gbo mAbomodwy
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300630 9

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

Mo Ho30L ImboEgdl 00GmYBbOL J39dmm dmEgdymo 3G Mmbmb03ol dgbododobo agnbdi0a?
char func(intx, float v, double t);

00Mhogm g mo:

O a. int

(O b. char
() c. double
O d. float
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300b30 10

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

oL 3odmohobl g3tobdg 3990930 3MEO

int f(inta);
int main()

{

cout << f (5);
system (“pause”);

}
int f(inta)

{

return ++3a;

}

00Mhogm g mo:
O a. 3md3omopnol Jg3mado

O b. 5
(Oc 6
Od 4
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300630 11

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

dmE999mo0o Bbgd3oo my_pow Hm3gmboE odalb Loby:

float my_pow(float x, intn) {
floatd = 1;int;
if(n == 0) return 1;
elseif(n > 0) {
for(i=1;i<=n;i++)
*= x:
return d;

}

else
for(i=-1;i>=n;i-) {
d*=1/x;

return d;

}
o 36038369mmdoL doomgol p (33¢MoE0 (3oLo7bo godmohobym smbogmool Lobom)

o7 dobo godmdobgoe 3Mmamododo bpgdo 8989abonMmoc:
float p= my_pow(2,-2)

Answer:
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300b30 12

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

3mE93nmoo BPbgool 3mEo, MMAgAans 9dgol m® Gogbgl dm®mol dobodomy® 3603369t MBLL:
double min(double x, double y)

{

if (x<y) return x;
return y;

}
3600 303m3mm dobodomy®mo bLod MoEbsgl (a,b, ¢) Im®mob. J390mm IMEgdYmo MMAJEMO d¢dobgdd Yo nymb godmygbgdymo?

00Mhogm g mo:
(O a. cout<<min(a, b, c);

(O b. cout<<min(a,b)+min(a,b,c);
(O c. cout << (min(a,b), min(c,b));
O d. cout<<min(a,b)<<min(c);

(O e. cout <<min(min(a,b), c);
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300b30 13

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

M0 0009300900 8980930 NG3gbH0L gbymgdol ggao:
int main(){

int rezult;

rezult=Product();
cout<<rezult;

}
int Product(){

int x, P=1;

for(x=2; x<=5; x++)

P*=x;
return P;

}

00Mhogm g mo:
O a. 125

O b. 120
Oc 25

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=393695&cmid=6236
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300630 14

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

Mol EodMYBIOL 893930 NYbioo:
float func2(float a, float b){
return (a<b)?a:b;

}

00Mhogm g mo:
O a. m®o bodE3omo ®MoEbgoob YaEomgbL.

O b. ™® bodpgom Gopbgl;
O €. ™©0 608300 ®0Eb30Eob YoEgLl;
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300630 15

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

169300 0m3emol 603300 MoEbgomo Hhodol dobogol 0d gemgdgbhgdol FodlL, G MAgmmo 06gdugdo 0;33emoe p-Eob -9y (0g3xmolbadgds, Mma p<m
©o q<m).6Om3Igmo dMdobgdom dg0demgdo dm39379mo )nbdi00l godmdobgdo?
const int m =5;

float sum(float [],int , int);

int main()

{

float mass[m]; int i,p,q;

float rez;

for (i=0;i<m;i++) cin>>mass]il;

cout<<"p?q?";

cin>>p>>q;

float sum(float a[],int p1,int q1){
int k; float s =0;
for(k=p1; k<=q1; k++)
s +=alk];
return s;

}
00Mhogm g mo:

O a. rez=sum(a[],p,q);

O b. rez =sum(mass,p,q);
O ¢. rez =sum(mass[],p,q);

O d. rez=sum(a,p,q);
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300b30 16

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

Mol 00MYb9oL 893930 NYbgEoo:
double S(double a[], int N)

{ double sum=0;

for (int i=1; i<N; i+=2)

sum+=a[i;

return sum;

}

00Mhogm g mo:
O a. 3960h0bggdbgonobo 693900L $oaUL;

O b. mybobrggbgonsbo B9z gdol Foal;
O ¢. 3960badLgdosbo o@adom Bggmgdol Foau;

O d. ybobrgdugdnobo EoEgdom Bgztgdol Foal;
O e. Y39mo ®oibgol oaL
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300630 17

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

Mo 3608369tm Mol 23MBYdL dmEgdnem 3mEdo Average @bgioo ?
const int N=5;

float Average(int b[]);

int main()

{
int array[N]={1, 2, 3, 4, 5};
float answer;

answer = Average(array);

}
float Average(int b[]){

int i; float s=0;

for(i=0; i<N; i++)
s+=D[i];

return s/N;

}
00Mhogm g mo:

Oa 5

O b. 3
O ¢. 5.55
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300b30 18

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

x=15, y=9. ®ol 000930036 3990930 M39MHOHMMO:
if (x > y) cout <<x ; else cout<<y;

00Mhogm g mo:

Oa 0
O b. 15
O¢c 9

O d. bobhogdbymo dgamao

300630 19

396 30lgbaoyigdgemo
309MobgoMm0dgdynemos 8990930 MomEgbmdnwsb 1.00

0 009300900 9300639 3 mamodol 3990930 3Mogdgbhol dgbymgdol 89d09ga?

int x, y =-3;
if(y = 0) x =10;
else x =5;

cout<<"x="<<x<<endl;

Answer:
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300b30 20

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

Mm3gmoo C++-0b dmbogdmo ¢h0307?

00MR0gm ghmo ob ModEybodg 3oLybo:
() a. double real,

(] b. char;
() c. real
() d. float;
(] e. FLOAT;
3000630 21
396 30Lnbaoyigdgmo

300MobgoMm0dgdnemos 89900930 MomEgbmdnwab 1.00

Mg 0090h0xR03HMMO o6 3godmgde godm3zoygbmm C++-3do

00MmRB0gm g mo:
(O a. MyName;

(O b. myname
(O c¢. myname

O d. my_name
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300b30 22

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

MMIYMO 0mb0db3zd oM godmoygbgodo ghmbihmogmboobo 3magbhomaobomgol?
00MR0gm ghmo ob ModEybodg 3oLybo:

(Ja #
() b. >>
()c [I*
d.
3000630 23
396 30bbaoy9dgmo

309MobgoMm0dgdynemos 8990930 MomEgbmdnwsb 1.00

dmE9aPMmO00 MmMa03xmMo 33emoEY00: a= false; b= false; c= false;
o 096900 8990930 MMZ03YMo godmbobymgdol dgwgan?
a&&'b&&c

00MRB0gm ghmo:
O True

O False
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300b30 24

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

9399mm dm39979¢m0 godmbobymgdgdoob M madgmoo §933060h0, My ImE3gdnmoo:
a= true, b=false

00Mhogm g mo:

O a. la&&lb
O b. la||b
O c. allb
O d. la&&b
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300b30 25

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

6o 3900930 godmohobl 3999a0 RMma3gbho oy p="L’ ?
switch (p)
{

case 'A'". cout<<"Alex"; break;

case 'T": case 'P'": cout <<"Ted, Peter ";
case 'M'": cout <<"Mary”; break;
default: cout <<"George";

}

20MRB0gm ghmo:
O a. Ted
(O b. Peter

(O c. Ted, Peter Mary
(O d. George
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300b30 26

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

M0 0009300900 03 YMadgb¢ol Bgltrymgool BgwgaeE?
int n=8;
double a[]={1,2,3,4,5,6,7,8};
double s=0;
for (int i=0; i<n; i++)
if(a[i]<0) s=s+a(i];
cout <<s;
00MAB0gm g mo:
(O a. adobogol gomygmaomo 69369006 Fodo

(O b. adobogol Eopgoomo Bgzmgool Fodo
(O c. adobogol godygmgxzomo 693mrgool MomEIbmod
O d. a 3obogol Bggdgool Fodo
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300b30 27

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

dmbogdmo MMIgM HodL 20MYbgAL strlen gynbgino?

(O a. char
O b. int
(O c¢. string
O d. float
300630 28
396 30bbaoy9dgmo

300MobgoMm0dgdynemos 8990930 MomEgbmdnwab 1.00

Mo dmYdggdol sLMYYMgdgb )nbdingoo strncpy_s (s1, s2, n ) o strnecpy ( s1,s2, n )?
O a. s2 bhM™ogmbol 30M39m N LOTIMM ML EOPTOHYIL ST LHGogmbol MMM
O b. s2 hMmogmbol 300390 N HOMEIEMOOL LOFIMMML 3M30MmooL s1 bhmogmbdo
(O ¢. s1 o s2bhmogmbgool 3039 n LOFOMMML FoEooboEgzmgol gMmMBobgmado
O d. 0omgdl gmmdobgmb s1 o s2 Lh®ogmbgdol domzgm n LoddmmMmUL
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300b30 29

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

MMIYMO Mo308 0oL hommazoo Bagodmm d3hmamododo gets () (gets_s ())BYbJEool godmboygbgdmo?

O a. stdlib
(O b. iomanip
() c. cstring
(O d. cstdio
300630 30
396 30ligbaoyi9dgmo

300MobgoMm0dgdynemos 8990930 MomEgbmdnwab 1.00

60 00930900 IME39379m0 BMoadgb¢ol dgberymgdol 39w9gao:
char S1[20]=" systems”;

char S2[15]=" information”;

cout<<strcpy(S1,S2);

Answer:

« »
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